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Mathematics

June 2025 Practice Paper 3 (Calculator)
Foundation Tier

Time: 1 hour 30 minutes

o

%

You must have: Ruler graduated in centimetres and millimetres, Total Marks
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

* Use black ink or ball-point pen.

* Fill in the boxes at the top of this page with your name,

centre number and candidate number.

* Answer all questions. —

« Answer the questions in the spaces provided /““‘«H

— there may be more space than you need.

* Calculators may be used.

» Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working.

Information

» The total mark for this paper is 80

» The marks for each question are shown in brackets

— use this as a guide as to how much time to spend on each question.
Advice

* Read each question carefully before you start to answer it.

* Keep an eye on the time.

* Try to answer every question.
» Check your answers if you have time at the end.

mathsgenie.co.uk



/Foundation Tier Formulae Sheet

Perimeter, area and volume
Area of a trapezium = %(a +b)h
Where r is the radius and d is the diameter:

Circumference of a circle = 2ar = nd

Area of a circle = 772

Volume of a prism = area of cross section X length

Where a and b are the lengths of the parallel sides and h is their perpendicular separation:

Pythagoras’ Theorem and Trigonometry

In any right-angled triangle where a, b and c are
the length of the sides and c is the hypotenuse:

Where P is the principal amount, r is the interest
rate over a given period and n is number of times
that the interest is compounded:

r n
Total d=P|1+—
otal accrue ( 100)

a2 + b2 — CZ
c

p In any right-angled triangle ABC where a, b and ¢
are the length of the sides and c is the hypotenuse:

4 sin A=< cosAzé tan 4=

c c b

b
Compound Interest Probability

Where P (4) is the probability of outcome 4
and P (B) is the probability of outcome B:

P(4orB)=P(A4)+P(B)—P (4 and B)

END OF EXAM AID




Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

Change 2.5 litres to millilitres

2500

(Total for Question 1 is 1 mark)

Write down the value of the 2 in the number 6024

20

(Total for Question 2 is 1 mark)

Write down two factors of 14

and two fom | y /q/ ) and ]

2 aad 77

(Total for Question 3 is 1 mark)

Here is a list of numbers
8 10 20 25 27 36

From the list, write down all the square numbers.
Gx §= 265
LxC 7 36

,2 S and 3¢

(Total for Question 4 is 1 mark)

\_ /
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5 Here are three number cards

5 2 3

Write down all the possible two-digit numbers that can be made using the cards.

52 25 €5
53 23 8 &

(Total for Question 5 is 2 marks)

6 Gita spins a fair 8-sided spinner.

Qs
N

(a) On the probability scale, mark with a cross (X) the probability that the spinner will land on C.

| * |

| |

0 1 1
2

(b) On the probability scale, mark with a cross (X) the probability that the spinner will land on D.

SV
R

0

l\)|>—‘——

(Total for Question 6 is 2 marks)
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(a) Write down the coordinates of point 4.

(b) On the grid mark with a cross (X) the point (-1, 3).
Label this point B.

(c) On the grid, draw the line with equation y =6

(1)

(Total for question 7 is 3 marks)




Write the following fractions in order of size.
Start with the smallest fraction.

19 5xS 2xio 11¥l 3 *k
30 6¢S 3 s1e [5x 5 =6

25 20 2 ,'l—

2® 66

30 . L
S 30 3 15 g

(Total for Question 8 is 2 marks)

On Monday, Lucy pays for 2 plane tickets, 7 nights in a hotel and 2 theme park tickets.

dollars
each plane ticket 750 »2 = 1500
each night in a hotel 120 x 7 = §40
each theme park ticket 125 x71. = # So

Show that Lucy pays more than 2500 dollars on Monday.

jsoo+ yot 250 7 2279

(Total for Question 9 is 3 marks)
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Last year Kelly’s car insurance cost £340
This year her car insurance costs 8% more.

(a) Work out the cost of Kelly’s car insurance this year.

350 x 1-0% =£367.20

. 367 20
3)

Charlie sells cars.

Each month he is paid £1800 plus a bonus.
The bonus is 2% of the total value of the cars he sells that month.

Last month Charlie was paid £2535

(b) Work out the total value of the cars he sold last month.

2/ ofF Totral = 73S

X SO X S0

| 00/ o Total = 36750

. 34 750
3)

(Total for Question 10 is 6 marks)
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The diagram shows a rectangle measuring 10 cm by 2 cm.

10 cm

2 cm

lo-1- %

A shape is made by placing 3 of these rectangles together as shown in the diagram.

1 /19 (A
n [o [\
o ]0
\
3 8
) N/
t 2

Work out the perimeter of the shape.

Q4iot 2 ti0 re tloF 2 1 #l0TE

ol

64 cm

s

(Total for Question 11 is 3 marks)

cm
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Rotate shape A 90° clockwise about (0, 0).

(Total for Question 13 is 2 marks)

12 (a) Expand and Simplify 2(x —4) + 5(4 — 3x)
2x -8 t 20 — 152C
]2 — 13
(b) Factorise fully 15x° + 6x)? )
[2
5 ( 5 A L+ 2 Y )
\ J
(2)
(Total for Question 12 is 4 marks)
A
13 5
4
3 A
2

N

/




Bradley gets the bus on Saturday and Sunday.
The probability that Bradley’s bus will be late on any day is 0.15

Bradley draws this probability tree for this information.
The diagram is not correct.

Saturday Sunday
Bus is
0.15 late
Bus is
0.15 late
0.85 Bus is
not late
Bus is
0.85 late
)
Bus is
not late
Bus is
0.15 not late

Write down two things wrong with the probability tree diagram.

be 0.3S 0-7s t 015 # |

<

On Suadaj (aflesr not lale on SA'(’UIO(QJ/\ e

probo\a‘,li)ﬁes are fue u/ronj way.... Azovnd
It shomld be Jake 015, not lak ‘é

(Total for Ouéstion 14 is 2 marks)
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15 m=5n+2p

Make p the subject of the formula.

M,-’gn:Z.F

m- Sn -—f»

L

_ m < 5a

] 1

(Total for Question 15 is 2 marks)

16 Gracie buys a house with a value of £350 000
The value of Gracie’s house increases by 3% each year.

Teddy buys a house with a value of £360 000
The value of Teddy’s house increases by 1.5% each year.

At the end of 2 years, whose house has the greater value?
You must show how you get your answer.

2 o000 x /.03 = 371315

L
3 Lo 000 x |].olS = 270 %%

o
Gracies ‘hoult

(Total for Question 16 is 4 marks)
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The front elevation and the plan of a solid are shown on the grid.

On the grid, draw the side elevation of the solid from the direction of the arrow.

Plan

Front elevation

(Total for Question 17 is 2 marks)
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18 The height of a building is 310 metres, correct to the nearest metre.
Complete the error interval for the height of the building.
] ,l ‘L
-
3o /\ si0 ] 3
307.5  dlo.S
30a.S m <lengh< 3)10..5 m
(Total for Question 18 is 2 marks)
19 # = {odd numbers less than 30}

A= 7,3, 290
B= {7, X, 15,29,

C =75, 17 \9 2% 24}

(a) Complete the Venn diagram to represent this information.

(2)
A number is chosen at random from ¢,
(b) Find the probability that the number is a member of (A N B).
R
—
1S
()

(Total for Question 19 is 3 marks)
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20 Use your calculator to work out \/

tan 20° + sin 25°

tan 25° — sin 20°
(a) Write down all the figures on your calculator display.

2. 615706413

2
(b) Write your answer to part (a) correct to 2 decimal places.
L.SL
(1)
(Total for Question 20 is 3 marks)
21
Potatoes Potatoes
1.25 kg 2 kg
£1.45 €3.49
London Dublin

In London, 1.25 kg of potatoes cost £1.45
In Dublin, 2 kg of potatoes cost €3.49

The exchange rate is £1 =€1.19

In which city are potatoes better value for money, in London or in Dublin?
You must show how you get your answer.

il.lfS' 100/ ) .23 Kj
=1.25 £1.93 for k9
. ¢S S (.25 =1 /6 £l.g7 Fr Jx9

.
-

.16 por Iy

Lor\ Ad o

- —

(Total for Question 21 is 3 marks)

3.49 —1.11 = £-93

/




Here is a rectangle. 5x+6

4'L 4x

Sx +¢

All measurements are in centimetres.
The perimeter of the rectangle is 57 cm.

Find the area of the rectangle.

/1§ x + /2 57
|9 = 95
X = 2.5

{‘(2-5):/0 5(;,5)+é:/8.5

Area = Jo < 18.5
= /8§

/ 85 cm?

(Total for Question 22 is 4 marks)
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23 Change a speed of 900 km per hour to metres per second.

700 oo m A ] howv (Co Mint)

= 60

| S o0 m in | min ( 6o Jecs)
=~ 60

250 m i~ | sec o ol

A 5 o metres per second

(Total for Question 23 is 2 marks)

24 Here is a right-angled triangle.

xcm
A B
3.5cm
12.5 cm
C
Work out the value of x.
2
2 T _
3 g% + - = /2.5 )
P2
21 = |2 . S — 3.5
2 -
x " =%y

x < J/#é/

x= ]2

(Total for Question 24 is 2 marks)

\_ /
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Gary recorded how many goals 10 football teams scored.
He also recorded how many goals they conceded

The information is shown on the scatter graph.

A

70

Goals 50
Scored \> X

40 X X \
\ X
30 ‘\
20 >
20 30 40 50 60 70
Goals Conceded
(a) What type of correlation does the scatter graph show?
nNLq a tive
V)
1)
(b) Another team have scored 44 goals.
Estimate the number of goals this team has conceded.
[0
(2)

(Total for Question 25 is 3 marks)
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26 Adam is measuring the heights in cm of his tomato plants.

Height (cm) Frequency
140 <h <150 145 X 7 |o15S
150<h<160 |S$ X 10 /550
160 <h <170 145 X 15 2475
170 <h <180 |7 X 19 3325
180 <h<200 |90 X 9 ) 710
(a) Estimate the mean height. 60 ] o ¢ s
Give your answer correct to 1 decimal place.
(oo 75 = /6 7.9
6 0
1679
3
(b) Explain why your answer to part (a) is an estimate.
......... We . Ao pnol. Kaows.  Tul.  ackial . eiy )wﬁ,g&}ﬁd
............................... Midpsiabs...108¥ead
(1)

(Total for Question 26 is 4 marks)
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27 The diagram shows a cuboid.

force

pressurc =

arca

3m

The cuboid has height 3 m
The volume of the cuboid is 21 m*
The pressure on the floor due to the cuboid is 25 newtons/m?

Work out the force exerted by the cuboid on the floor.

voluWlUe = area oy oSS Sechat X VQ}‘JVU‘
2y = area x 3§
oree < 7

area _Po((e -1LS X7
r 25 - {orce. 1.7S newtons

(Total for Question 27 is 3 marks)

28 Water flows through each of the hoses that fill a swimming pool at the same rate.
It takes 3 of the hoses 6 hours to fill the swimming pool.

Work out how many hours it would take 2 of the hoses to fill % of the swimming pool.

3 Xx 6 g (\‘3 vowrs for o< lheonde
o £ Tue pool)

ﬁ- = 9 (C} hovrd )C°’ L hLosey o
Ril +ue poot)
3 ,(‘1 - 675 L\OJfJ

6. 75

(Total for Question 28 is 3 marks)

- /

hours
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29 The diagram shows an empty tank in the shape of a cylinder.

T 12N

o— P

45cm
The cylinder has radius 12 cm and height 45 cm.
Water flows into the tank at a rate of 1.8 litres per minute. ) l | 't re = / 200 Cm

Calculate the number of minutes it will take to completely fill the tank.
Give your answer correct to the nearest minute.

Volune = Ik
ﬂ(lz)z(lfg)

3
203S7.572 cm

"

\

20.3S7S2 litre)

1

= (.8 = Il.3
20.2587S2 : aiaukes

|

minu
tes
(Total for Question 29 is 4 marks)
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Solve the simultaneous equations

GxX T 29 T'C
Qd:l‘-’—
3 :35
Y x J—l(3.$) zlt
Uax + 7 =12
Gz = 5
x =125

= /.25

38

(Total for Question 30 is 3 marks)

TOTAL FOR PAPER IS 80 MARKS




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21

